

ON SOME FIXED POINT CONVERGENCE THEOREMS FOR MANN ITERATIVE PROCESS

By

¹M. Zulfiker Ali & ²M. Asaduzzaman

¹Dept. of Mathematics., University of Comilla, Comilla, Bangladesh

²Dept. of Arts and Science, Ahsanullah University of Science and Technology, Rajshahi Campus, Rajshahi, Bangladesh

E-mail: asad_math@yahoo.com

Abstract

In this paper, we find a more generalized contractive mapping that is applied to prove some convergence theorems of Mann Iteration procedure. Our proof is comparatively easy. Actually, here we generalized some theorems of Rhoades[3], Qihou[1], Ganguly and Bandyopadhy[8], Kannan[12] to develop the concept on convergence of Mann Iteration procedure.

Keyword and phrases : contractive mapping, convergence theorems, Mann Iteration procedure.

সংক্ষিপ্তসার

আরও অধিক সাধারণীকৃত সংকোচনশীল চিত্রণ যাহা ম্যান (Mann) পুনরাবৃত্তিমূলক পদ্ধতির কতিপয় অভিসারি উপপাদ্যকে প্রমানের জন্য ব্যবহার করা হয়েছে তা আমরা উক্ত প্রবন্ধে নির্ণয় করেছি। আমাদের প্রমাণ গুলি তুলনামূলক ভাবে সহজ। প্রকৃত পক্ষে, এখানে আমরা ম্যান (Mann) পুনরাবৃত্তিমূলক পদ্ধতির অভিসারিত্বের ধারণাকে উন্নত করার জন্য রোডিস (Rhodes), কিহো (Qihou), গাঙ্গুলি এবং বন্দ্যোপাধ্যায়, কান্নান (Kannan) এর কতিপয় উপপাদ্যকে সাধারণীকরণ করেছি।

1.Introduction

Let S be a non-empty bounded closed convex Subset of a Banach space B . Let F be a mapping from S into S i.e., $F : S \rightarrow S$

Now, the contractive definition is

$$\|F(x) - F(y)\| \leq k \max\{\|x - y\|, \|x - F(x)\| + \|y - F(y)\|, \frac{1}{2}(\|x - F(y)\| + \|y - F(x)\|)\}$$

$$\text{for all } x, y \in S, \text{ where } k, c \geq 0, 0 \leq k < 1. \quad (1)$$

The Mann iterative process is defined by

$$x_{n+1} = (1 - a_n)x_n + a_n F(x_n), \quad x_0 \in S, \quad n \in N, \quad (2)$$

where, N is set of Natural numbers and $\{a_n\}$ is a sequence of non-negative numbers satisfying (i) $a_0 = 1$, (ii) $0 \leq a_n \leq 1$ & (iii) $\sum a_n = \infty$ i.e., $\{a_n\}$ is divergent.

Qihou, L. [1] used the contractive definition (1) but he considered Ishikawa iterative process, which is defined as follows :

$$x_{n+1} = (1 - a_n)x_n + a_n F[(1 - b_n)x_n + b_n F(x_n)], \quad x_0 \in S, \quad n \in N, \quad (3)$$

where, $\{a_n\}$ and $\{b_n\}$ are sequences of non-negative numbers such that (i) $0 < a \leq a_n \leq 1$, $0 \leq b_n \leq 1$ (ii) $\limsup_{n \rightarrow \infty} (b_n) < 1$.

Kalishanker Tiwary¹ and S.C. Debnath² [2] used the Ishikawa iterative process (3) but they considered the following contractive definition:

$$\|F(x) - F(y)\| \leq \max \left\{ \|x - y\|, \frac{1}{2} [\|x - F(x)\| + \|y - F(y)\|], \frac{1}{2} [\|x - F(y)\| + \|y - F(x)\|] \right\}$$

for all $x, y \in B$. (4)

Ganguly and Bandypadhyay [8] used the following contractive definition :

$$\|F(x) - F(y)\| \leq a_1 \|x - y\| + a_2 \|x - F(x)\| + a_3 \|y - F(y)\| + a_4 \|x - F(y)\| + a_5 \|y - F(x)\|, \text{ for all } x, y \in B, \text{ where, } a_i \geq 0 \text{ \& } \sum_{i=1}^5 a_i \leq 1. \quad (5)$$

B.E. Rhoades [3] used (3) and (4).

Tiwary and Lahiri [19] used the contractive definition (5) but they considered the following iterative process:

$$x_{n+1} = \lambda x_n + (1 - \lambda)F(x_{n-1}), \quad x_0 \in S, \quad n \in N, \quad 0 \leq \lambda \leq 1.$$

Kannan[12] considered the above iterative process for semi-non-expansive maps while Chakraborty and Lahari[7] used the contractive definition (5).

It is shown that the contractive definition (1) is more general than contractive definitions (4) and (5). Ishikawa iterative process reduces to the Mann

iterative Process by setting $b_n = 0$ for all $n \in N$. In this paper, we consider Mann iterative process for the mapping satisfying (2).

Suppose, F be a mapping S into S . Now if $F(x) = x$ for all $x \in S$, then x is called the fixed point of F .

A Banach space B is said to be uniformly convex if,

$$\|x_n\| \leq 1, \|y_n\| \leq 1 \& \|x_n + y_n\| \rightarrow 2 \text{ as } n \rightarrow \infty \text{ imply } \|x_n - y_n\| \rightarrow 0, \forall x_n, y_n \in B.$$

We call a set S in a topological space B relatively compact if its closure is complete.

2. The Main Results

Theorem A: Let S be a non-empty bounded closed convex subset of a Banach space B and F be a map from S into S satisfying the contractive definition (1). Let $\{x_n\}$ be a sequence in S defined by (2). Now, if $\{x_n\}$ converges, then it converges to a fixed point of F .

Proof:

Suppose that,

$$\lim_{n \rightarrow \infty} x_n = r, \text{ where } r \text{ is any finite number.}$$

Now, we are to show that r is the fixed point of F i.e., $F(r) = r$.

By (2) we have,

$$x_{n+1} = (1 - a_n)x_n + a_n F(x_n)$$

$$\text{i.e., } x_{n+1} - x_n = a_n [F(x_n) - x_n]$$

Since, $\lim_{n \rightarrow \infty} x_n = r$ and therefore,

$$\lim_{n \rightarrow \infty} a_n [F(x_n) - x_n] = 0, \text{ i.e., } \lim_{n \rightarrow \infty} [F(x_n) - x_n] = 0.$$

Which gives that $\|x_n - F(x_n)\| \rightarrow 0$ as $n \rightarrow \infty$.

By (1) we have,

$$\|F(x_n) - F(r)\| \leq k \max \{ \|x_n - r\|, [\|x_n - F(x_n)\| + \|r - F(r)\|], [\|x_n - F(r)\|]$$

$$+ \|r - F(x_n)\| \} \}$$

But,

$$\|r - F(r)\| \leq \|r - x_n\| + \|x_n - F(x_n)\| + \|F(x_n) - F(r)\|$$

$$\|x_n - F(r)\| \leq \|x_n - F(x_n)\| + \|F(x_n) - F(r)\|$$

$$\|r - F(x_n)\| \leq \|r - x_n\| + \|x_n - F(x_n)\|.$$

Therefore,

$$\|F(x_n) - F(r)\| \leq k \max \{ \|x_n - r\|, [2\|x_n - F(x_n)\| + \|r - x_n\| + \|F(x_n) - F(r)\|],$$

$$[2\|x_n - F(x_n)\| + \|r - x_n\| + \|F(x_n) - F(r)\|] \}$$

$$= k \max \{ c \|x_n - r\|, [2\|x_n - F(x_n)\| + \|r - x_n\| + \|F(x_n) - F(r)\|] \}$$

Now, since $x_n \rightarrow r$ and $\|x_n - F(x_n)\| \rightarrow 0$ as $n \rightarrow \infty$.

$$\therefore \lim_{n \rightarrow \infty} \|F(x_n) - F(r)\| = 0$$

Also we have,

$$\|r - F(r)\| \leq \|r - x_n\| + \|x_n - F(x_n)\| + \|F(x_n) - F(r)\|.$$

So,

$$\lim_{n \rightarrow \infty} \|r - F(r)\| = 0.$$

Which implies that, $r - F(r) = 0$.

$$\therefore F(r) = r.$$

This completes the proof.

Theorem B: Let S be a non-empty closed convex subset of a uniformly convex Banach space B . Let $F : S \rightarrow S$ satisfying (1) and such that $F(S)$ is relatively compact. If $f(F)$ the fixed point set of S is non-empty, then Mann iterative process (2) with $\{a_n\}$ satisfying (i), (ii) & (iii) converges to a fixed point of F .

Proof:

Suppose, $r \in f(F)$ then,

$$\|F(x_n) - r\| = \|F(x_n) - F(r)\| \leq k \max \{ \|x_n - r\|, [\|x_n - F(x_n)\| + \|r - F(r)\|],$$

$$[\|x_n - F(r)\| + \|r - F(x_n)\|] \}$$

$$\leq k \max \{ c \|x_n - r\|, [\|x_n - r\| + \|r - F(x_n)\| + \|r - F(r)\|],$$

$$[\|x_n - r\| + \|r - F(r)\| + \|r - F(x_n)\|] \}$$

$$= k \max \{c \|x_n - r\|, [\|x_n - r\| + \|r - F(x_n)\|],$$

$$[\|x_n - r\| + \|r - F(x_n)\|] \} \quad [\because F(r) = r]$$

Therefore, it follows that

$$\|F(x_n) - r\| = \|F(x_n) - F(r)\| \leq k \|x_n - r\| \quad (6)$$

Now,

$$\begin{aligned} \|x_{n+1} - r\| &= \|(1 - a_n)x_n + a_n F(x_n) - r\| \\ &= \|(1 - a_n)(x_n - r) + a_n(F(x_n) - r)\| \\ &\leq (1 - a_n)\|x_n - r\| + a_n\|F(x_n) - r\| \end{aligned} \quad (7)$$

Now, combining (6) & (7) we get,

$$\begin{aligned} \|x_{n+1} - r\| &\leq (1 - a_n)\|x_n - r\| + ka_n\|F(x_n) - r\| \\ &= (1 - a_n + ka_n)\|x_n - r\| \\ \text{i.e., } \|x_{n+1} - r\| &\leq \|x_n - r\| \quad [\text{since } 0 \leq k < 1 \text{ and } 0 \leq a_n \leq 1] \end{aligned} \quad (8)$$

Therefore, $\{\|x_n - r\|\}$ is a monotone decreasing positive sequence, and hence converges to a real number a .

Suppose, $a > 0$.

Since,

$$\begin{aligned} \|x_n - F(x_n)\| &\leq \|x_n - r\| + \|F(x_n) - r\| \leq \|x_n - r\| + k\|x_n - r\| \\ &= (1 + k)\|x_n - r\| \end{aligned}$$

[Using (6)]

$$\text{i.e., } \|x_n - F(x_n)\| \leq (1 + k)\|x_n - r\| \quad (9)$$

So

$\{\|x_n - F(x_n)\|\}$ is a bounded sequence.

Now,

$$\begin{aligned} \|r - x_{n+1}\| &= \|r - (1 - a_n)x_n - a_n F(x_n)\| \\ &= \|(1 - a_n)(r - x_n) + a_n r - a_n F(x_n)\| \\ &= \|(1 - a_n)(r - x_n) + (1 - a_n)(r - F(x_n)) + (2a_n - 1)(r - F(x_n))\| \end{aligned}$$

$$\begin{aligned} &\leq (1-a_n) \| (r-x_n) + r - F(x_n) \| + (2a_n - 1) \| r - F(x_n) \| \\ &\leq (1-a_n) \| (r-x_n) + (r - F(x_n)) \| + (2a_n - 1) \| r - x_n \| \end{aligned}$$

[Using (6)]

$$\leq (1-a_n) \| r - x_n \| \cdot \frac{\| (r-x_n) + (r - F(x_n)) \|}{\| r - x_n \|} + (2a_n - 1) \| r - x_n \| \quad (10)$$

Now, define

$$L = \frac{r - x_n}{\| r - x_n \|} \text{ \& } M = \frac{r - F(x_n)}{\| r - x_n \|}$$

Then,

$$\| L + M \| = \frac{\| (r - x_n) + (r - F(x_n)) \|}{\| r - x_n \|}$$

$$\| L \| = \frac{\| r - x_n \|}{\| r - x_n \|} \leq 1 \quad \text{i.e., } \| L \| \leq 1$$

$$\| M \| = \frac{\| r - F(x_n) \|}{\| r - x_n \|} = \frac{|-1| \cdot \| F(x_n) - r \|}{|-1| \cdot \| x_n - r \|} \leq \frac{k \| x_n - r \|}{\| x_n - r \|} \leq 1 \quad \text{i.e., } \| M \| \leq 1$$

[Using (6)]

$$\text{and } \| L - M \| = \frac{\| r - x_n - r + F(x_n) \|}{\| r - x_n \|} = \frac{\| F(x_n) - x_n \|}{\| r - x_n \|}$$

So, from (10) we get

$$\| r - x_{n+1} \| \leq (1-a_n) \| r - x_n \| \cdot \| L + M \| + (2a_n - 1) \| r - x_n \| \quad (11)$$

Now,

$$\begin{aligned} \lim_{n \rightarrow \infty} \| L + M \| &= \lim_{n \rightarrow \infty} \frac{\| (r - x_n) + (r - F(x_n)) \|}{\| r - x_n \|} \\ &\leq \lim_{n \rightarrow \infty} \frac{\| r - x_n \| + \| r - F(x_n) \|}{\| r - x_n \|} \quad [\text{By triangle inequality}] \\ &= \lim_{n \rightarrow \infty} \frac{\| r - x_n \|}{\| r - x_n \|} + \lim_{n \rightarrow \infty} \frac{\| r - F(x_n) \|}{\| r - x_n \|} \\ &= \lim_{n \rightarrow \infty} \frac{\| r - x_n \|}{\| r - x_n \|} + \lim_{n \rightarrow \infty} \frac{|-1| \cdot \| F(x_n) - r \|}{\| x_n - r \|} \end{aligned}$$

$$\leq \lim_{n \rightarrow \infty} \frac{\|r - x_n\|}{\|r - x_n\|} + \lim_{n \rightarrow \infty} \frac{k \|x_n - r\|}{\|x_n - r\|}$$

[Using (6)]

$$\leq 2$$

$$\text{i.e., } \lim_{n \rightarrow \infty} \|L + M\| \leq 2 \quad \text{i.e., } \|L + M\| \rightarrow 2 \quad \text{as } n \rightarrow \infty$$

Therefore, from (11) we get

$$\|r - x_{n+1}\| \leq \|r - x_n\| \quad (12)$$

Hence, we can also say that $\{\|r - x_n\|\}$ is a monotone decreasing positive sequence.

Since, B is uniformly convex and $\|L\| \leq 1, \|M\| \leq 1$ & $\|L + M\| \rightarrow 2$.

Then, we get $\|L - M\| \rightarrow 0$

$$\text{i.e., } \lim_{n \rightarrow \infty} \|L - M\| = 0 \Rightarrow \lim_{n \rightarrow \infty} \frac{\|x_n - F(x_n)\|}{\|r - x_n\|} = 0$$

But, $\lim_{n \rightarrow \infty} \|r - x_n\| \neq 0$. Because, if $\lim_{n \rightarrow \infty} \|r - x_n\| = 0$ then, $x_n \rightarrow r$ and which contradicts the definition of a .

Hence,

$$\lim_{n \rightarrow \infty} \|x_n - F(x_n)\| = 0$$

Since, $F(S)$ is relatively compact, there exists a subsequence $\{F(x_{n_i})\}$ of $\{F(x_n)\}$

Such that

$$\lim_{i \rightarrow \infty} [F(x_{n_i})] = d \in B, \text{ (Say)}$$

But,

$$\|x_{n_i} - d\| \leq \|x_{n_i} - F(x_{n_i})\| + \|F(x_{n_i}) - d\| \rightarrow 0 \text{ as } i \rightarrow \infty$$

Now,

$$\begin{aligned} \|F(d) - d\| &\leq \|F(d) - F(x_{n_i})\| + \|F(x_{n_i}) - d\| \\ &\leq k \max\{\|d - x_{n_i}\|, [\|x_{n_i} - F(x_{n_i})\| + \|d - F(d)\|], [\|x_{n_i} - F(d)\| + \|d - F(x_{n_i})\|]\} \\ &\quad + \|F(x_{n_i}) - d\| \\ &\leq k \max\{c \|d - x_{n_i}\|, [\|x_{n_i} - F(x_{n_i})\| + \|d - F(d)\|], [\|x_{n_i} - d\| + \|d - F(d)\| \\ &\quad + \|d - F(x_{n_i})\|]\} + \|F(x_{n_i}) - d\| \end{aligned}$$

So,

$$\|F(d) - d\| \leq k \max\{\|d - F(d)\|, \|d - F(d)\|\} \quad \text{as } i \rightarrow \infty.$$

Hence,

$$\|F(d) - d\| \leq k \|d - F(d)\|.$$

Which is a contradiction, because $0 \leq k < 1$ and $F(d) = d$.

Hence d is a fixed point of F i.e., $d \in f(F)$.

Now, replacing r by d in (8), it follows that $\{\|x_n - d\|\}$ is monotone decreasing sequence in n .

Since, $\lim_{n \rightarrow \infty} [x_n] = d$, which implies that $\lim_{n \rightarrow \infty} [x_n] = d$.

Hence, we can say that $\{x_n\}$ converges to a fixed point of F .

This completes the proof.

References

- 1) Qihou, L.: The convergence theorems of the sequence of Ishikawa iterates for quasi contractive mapping, J. Math. Anal. Appl. 146 (1990), 301-305.
- 2) Kalishankar Tiwary¹ and S.C. Debnath²: On Ishikawa Iterations, Indian J. Pure and Appl. Math., 26(8)(1995),743-750.
- 3) B.E. Rhoades: Some fixed point iterations, Soochow J. Math. 19 (1993), 377-80.
- 5) B.E. Rhoades: A General Principle for Mann Iterations, Indian J. Pure and Appl.Math, 26(8) (1995), 751-762.
- 6) B.E. Rhoades: A comparison of contractive definitions, Trans. Amer. Math. Soc. 226 (1977), 257-290.
- 7) B.E. Rhoades: Some fixed point iteration procedures, Internat. J. Math. & Math. Sci. vol. 14, no. 1 (1991), 1-16.
- 8) M.K. Chakraborty and B.K. Lahiri: Indian J. Math. 18(1976), 81-89.
- 9) D.K. Ganguly and D. Bandyopadhyay: Soochow J. Math. 17(1991), 269-285.
- 10) Ishikawa, S.: Fixed point by new iteration method, Proc. Amer. Math. Soc. 44(1974), 147-150.

- 11) Ishikawa, S.: Fixed points and iteration of a non-expansive mapping in a Banach space, Proc. Amer. Math. Soc. 59(1976), 65-71.
- 12) W.R. Mann: Mean value methods in iterations, Proc. Amer. Math. Soc. 4(1953), 506-510.
- 13) R. Kannan: Construction of fixed points of class of nonlinear mapping, J. Math.Anal. Appl. 41(1973), 430-438.
- 14) M.M. Vainberg: Variational Method of Monotone Operators in The Theory of Nonlinear Equations, John Wiley & Sons (1973).
- 15) V. Berinde: On the convergence of the Ishikawa iteration in the class of quasi-contractive operators, Acta. Math. Univ. comenianae, vol. LXXIII,1(2004),119-126.
- 16) Arif Rafiq: A convergence theorem for Mann fixed point iteration procedure, Applied Mathematics E-Notes, 6(2006), 289-293.
- 17) Krishna Kumar: The equivalence of Mann and Ishikawa iteration for the class of uniformly pseudo-contraction, Thai. J. Math. Vol. 2(2004), No. 2, 217-225.
- 18) D. R. Smart: Fixed point theorems, Cambridge University press (1974).